Let R be the region in the plane enclosedby y = Inx, y = 0, and x = 2,
Find the volume of the solid formed by rotating R about the axds x = 3.

A)
B)

V=m [ 7((e” +3)2 - 1)dy.

V=n J;nz(l — (3 -¢)?)dy.
V=nf, (3= e -1)dy.
V= rrj;nz(ez-'" —1)dy.

None of tha above.
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Which of tha following serles converge?
LIt LB, mL3n,
A) Tonly.
B) Monly.
C) IandIII.
D) I only,
E)  None of them,
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Let R be the reglon in the half plane x > 0 bounded by the curves
y=-5x+5
y=x'-1
x=0
Compute the volume of the solid of revolution formed by rotating
R about the vertical line x = -2,

A) V=2 f)(x-2)|(-5x +5) - (x2 - 1)|dx.
B) V= erj'ol(x +2) (Jr2 = 1) - (~5x + 5)? dx,
O V=2m[i(x+2)[(-5x+5) - (2 - 1)]dx,

) V=21 f)(x-2)[(x2 - 1) - (-5x + 5)]dx.
E)  Noneof the above,

A)
0)

C)
o)

t)
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Find the sum of the serjes:

o

Z n(nti 3)

n=5
or conclude that jt diverges,
A) 0.
B) 2,
q 4
) 2
E)

Dh'tfges.
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Time left 0:03:47
Express the area of the surface obtalned by rotating the curve _—
; ]

y= E]" csc(2x) between x = ’6-5 and x = -;E about the y —axis as
an integral,

N

A) fg esc(2x) In esc(2x) dx,

B) n'J'EI In cse(2x) Jl J.-%cotz(z:;;dx.

O 2n fgx ese(2x) dx,

D) 27 fg‘x J 1 +%c0t2(2x)dx.
E]  None of the above,
C A)
) 9

S )

L
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Which of the following series converge?

» | -
Il znzlm H. Zn:Z_L

!
= Inn

A)  None of them.
B) [only.

n=l =
vyné+1
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Time left 024 ¢

4

-2
Express the arc length of the curve y = e % between

x = -3 and x = —1 as an integral,
-1/ 1
A) f-:l (‘;'FEP-)(II.
B) j'_g(I—J-F-I—\ dx,

-1 \2 " 24
-1/ \

C) I_3 (?-_zijjdx'
- |

D) f_f (EZ-—Z—;-] dx.
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Cr "

o A solid is formeqg With a base that s 5 triangle with Vertices at
reciini (0,0), (3,0) and (0.1). Cross sectione of this solid Perpendicular
Menred gy ) to the x —ayjs are squares, Find the volume of the soljd
: L.
Vg 1
pl b B A] -.2-‘
1
B) 3
) 1.
D) 2
2
E) N

One of the aboye,

5o 4 |
CamScanner - lgo &>guaal



Assume the terms of a sequence {a,)

n-1 are given by the following
formula:
1 2 3 n
a, ‘553+§_r:3+_3'§5+ o —

3n?’
Find the limit of the sequence or conclude that jt diverges.
H-I_Tl'[_t': ZF:ll o n(ntl

—
1

A) >
1

B) -3"|
1

Q) o

D) o.

E)  Diverges.

o
(LY
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Find the sum of the series:

0

2n% 4 30t
2w

n=1

or conclude that it diverges.

35 *
A) T b
B)
4
53
q 3
) =,
D) 2
) 2

E)  Diverges.
A)
1)

.-‘:’

'I]J
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Assume ) .., a, lsaninfinite series with partial sums given by

2
SH =4 - ;r
What is ﬂg?
|
A’ i i'an
1
B) e
2
C) --S'l-
2
D) E-
E)  None of the above,
A)
Oe)
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let §7.,a, be n series with partial sums Sy. If a, = f(n), where f(x) is positive,
comtinuoas, and decreasing Function. Which of the following statements are always true?

I i E3,1 0, converges, then lim a, = 0.
L I3, = Lthenlima, = L.
L ¥ lim a, = 0,then 1.3, a, converges.
IV. 1f lim Sy = L, then T7.,a, = L.
Vo[ f(x)dx = L then §Z. a, = L.

A) Iland IV,

B) II,II0, IV.

0 II,Iv,V.

D) IandIv,

E) Al of them,
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(2) oldasis g

The integral that gives the volume when the region enclosed by

¥y = In(z), £ = €® and y = 0 is revolved about the x-axis. (Use cylin-
drical shell method).

e 3
(A) 27 / y(e® — e¥) dy (B) 2x f yeV dy
0 0

a

(©) 2:.—/0 y(e® — e¥) dy (D) 2x j(, 2n(z) dz

(E) 27.-/03 (e®* — ev¥) dy

O O OO

—
N
~
CE
*

: : 2 _
The integral for the area of the surface obtained by rotating the curve y° =
T, 0<xr <3, u>0 about the x-axis is:
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(E) €5 — 1



(2) ot

The integral that finds the volume obtained by rotating the region
enclosed by y = z? and y = 8 — z? about the linez =5

2 2

(A) 27 /_2 (5 — z)(8 — 227) dz (B) 2 f_z (5 + z)(8 — 22°) dz
VB 2

(C) 2r ]J_ (5 — z)(8 — z°) dz (D) 2r / (8 — 22%) dz

2
(E) 27.'[ (5 — z)(8 + 22?) dz

—2

O O O O O

CamScanner = Wgo d> gusaall



(2) ludais

The limit of the sequence a,, =

2
A)3
1
B)

1
C)3

1
D)E

1

E) ez

2n?

18
8nZ+1

@ O O O O
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Use the slicing method to find the volume of the solid whose base
is the region inside the circle z? + y? = 1 if the cross sections taken
perpendicular to the y—axis are squares

16 16
(A) ry (B) s

8 8
(C) 3™ (D) s

®) 3

O O O O O
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(2) olidaii

a
The arc length of y = 5+%+§ fromx=1tox=4is

(A) f:\jl + (5 +§+§)2 dx

(B) fle—(§+2‘?)2 dx

(©) ffJH%—;‘ﬁ dx
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(2) olaais
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(2) olass "

The integral for the arca of the surface obtained by rotating the curve 3% =
r, 0<x <3, y>0 about the x-axis is:
3

(a) frr\./‘l:z: + ldz
0

3
(b) f:r\/ﬂl;r + bdx
0

3

(c) f?r\/m:lm
(d) j /A + 13dz
(e) j‘r.\/mri.r
A@©
8 O
c O
> O
E O
(2) oladats .
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(2) oyludass

Use the slicing method to find the volume of the solid whose base
is the region bounded by the lines ¢ + 5y = 5,z = 0 and y = 0 if the
cross sections taken perpendicular to the z—axis are semicircles

@ :  ®
© 5 (D
(B) 3

O O O O O
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(2) oylaass

If the region enclosed by the y—axis, the line y = 2, and the curve
¥ = /= is revolved about the y—axis, the volume of the solid gener-

i
W @
© % o
(E) %
A O
B O
c O
O
E O
(2) ol *
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